Please note that there is no “key” for this exam. If you can’t answer many questions, it means that you are not ready for the exam! Before trying to answer these questions thoroughly read your notes and text and work out the problems in the textbook and online. If you wish, you can submit the answers on a Scantron a few days before the actual exam to see the result.
Multiple Choice Questions (100 Points)

1. When the price level rises, the value of the dollar:

a. rises at the same rate.

b. rises at a faster rate.

c. stays the same.

d. falls.
2. When Laspeyres and Paasche price indices read different numbers,
a. we must have made a mistake. 

b. we have the index number problem.

c. we must recalculate CPI. 

d. we must recalculate PPI.   

3. In order to develop a price index such as CPI, one must

a. add the price of each good in a market basket and divide the sum by 100.

b. fix the composition of the market basket and change the prices. 

c. fix the prices and change the composition of the market basket.

d. average the price of all goods in different market baskets.


e.  fix both the composition of the market basket and the prices. 

4. The Consumer Price Index (CPI)

a.  includes prices of raw materials

b.  includes the prices of some used consumer goods 

c.  is found by simply averaging the prices of all goods consumed in the economy

d.  includes only the prices of domestically produced consumer goods     

5. The price of a typical basket of goods and services in one period divided by the price of the same basket in a different year is a(n)

a.  price index

b.  TV-violence index

c.  employment index

d.  output index

e.  unemployment index

6. The Producer Price Index (PPI)

a.  measures the prices of all goods produced in the economy.

b.  includes prices of raw materials.

c.  is found by averaging the prices of all goods produced in the economy.

d.  includes only the prices of domestically produced consumer goods.

e.  includes the prices of some used consumer goods.

7. In the following index, which year is likely to be the base period: 1991 = 123.3; 1992 = 100; 1993 = 111.4; 1994 = 120; 1995 = 94.3?

a.  1991

b.  1992

c.  1993

d.  1994

e.  1995

8. If your nominal wage increases from $10 to $15, while the price level rises from 100 to 200, then the your real wage 

a. rises by 100%.

b. does not change.

c. falls by 50%.

d. falls by 25%.

e. None of the above

9. The nominal interest is 5 percent, and the annual inflation is 7 percent, then the real interest is 

a.  –2%.

b.  –20%.

c.  12%.

d.   2%.

e. None of the above, we don’t have enough information to answer the question. 

10. When the value of a payment is adjusted in proportion to changes in the CPI, economists refer to that as

a.  nominalization.

b.  realization.

c.  indexation.

d.  stabilization.

e.  depreciation.

11. If the base year for an index is 1997 and the value of the index in 2000 is 135.1, by what percent has the measure grown over those 3 years?

a.  270.2 percent

b.  100 percent

c.  135.1 percent

d.  0 percent

e.  35.1 percent

12. When the price level is falling, the economy is experiencing

a.  creeping inflation

b.  deflation 

c.  disinflation

d.  inflation

e.  stagflation

13. According to your text, neoclassical economists contend that 

a.  the economy is always at full employment in the short run.

b.  the economy is rarely at full employment.

c.  the economy moves to full employment in the long run.

d.  business cycles explain long-run fluctuations in the economy.

e.  the economy is at full employment in the short run, but in the long run, business cycle movements lead the economy away from full employment.

14.  What major historical event led to the most significant challenge to neoclassical economic thinking?

a.  the war on poverty

b.  the American Revolution

c.  World War II

d.  the Great Depression

e.  the oil shocks of the 1970s

15. According to your text, the fundamental assumption in the classical model is that:

a. there is no unemployment.

b. markets clear.

c. the distribution of income is fair.

d. the government’s budget is balanced.
16. Diminishing marginal returns means that aggregate production function is

a. linear


b. downward sloping


c. upward sloping and slope increases.


d. upward sloping and slope decreases.


e. concave to the origin. 

17. According to the neoclassical labor market theory, if the price level increases,

a. demand for labor will increase.

b. demand for labor will decrease.

c. demand for labor will no change.

d. supply of labor will increase. 
18. In the neoclassical labor market, a decrease in price level will

a. cause the demand for labor to decrease.

b. cause the demand for labor to increase.

c. neither increase nor decrease the demand for labor.

d. result in higher marginal product.

e. none of the above.

19. Which of the following types of unemployment, at least in the long-run, does not exist in the neoclassical model?

a.  both c and d

b.  all of the following

c.  structural unemployment

d.  cyclical unemployment

e.  frictional unemployment

20. The negative slope of the demand curve for labor has to do with the fact that 

a. marginal utility of firms diminishes as more and more workers are hired.

b. marginal cost of labor falls as more and more workers are hired.

c. price level declines as more and more goods are produced.

d. marginal product of labor decreases as more and more workers are hired.

e. none of the above. 

21. If the labor supply and demand curves cross at a wage rate of $20,

a.  a wage rate of $10 per hour would lead to an excess demand for labor

b.  a wage rate of $10 per hour would lead to an excess supply of labor

c.  that wage causes a high rate of cyclical unemployment

d.  employees are overpaid

22. Leakages in the circular flow include which of the following?

a.  household saving and government spending

b.  business investment and household saving

c.  taxes and household saving

d.  government spending and business investment

e.  taxes and government spending

23. Changes in government spending or taxes designed to stimulate the economy are examples of

a.  supply management policy.

b.  monetary policy.

c.  fiscal policy.

d.  classical policy.

e.  regulatory policy

24. In the neoclassical model, the supply of funds to the loanable funds market comes from

a.  household saving

b.  net taxes

c.  government budget deficits

d.  planned investment

e.  firms’ income

25. What is the price of funds in the loanable funds market?

a.  the real wage rate

b.  the Consumer Price Index

c.  the interest rate

d.  the profit rate

e.  the GDP price index

26. Crowding out refers to a(n)

a.  decline in one sector's spending caused by an increase in another sector's spending 

b.  business tactic used to steal a competitor's customers

c.  increase in one sector's spending caused by an increase in another sector's spending

d.  decrease in the price level after too many goods have crowded onto the market

e.  decrease in the amount of goods produced after too many goods have crowded onto the market

27. When the monetary authorities manipulate the money supply to achieve a macroeconomic goal, they are conducting

a.  both c and e

b.  all of the following

c.  fiscal-management policy

d.  fiscal policy

e.  monetary policy

28. In the neoclassical model, if government tries to increase employment and output by increasing its purchases,

a.  it will achieve its goal and economic conditions will improve.

b.  it will not attain its objective unless it also decreases taxes.

c.  its actions will cause the interest rate to rise, which will choke off investment spending.

d.  firms will be motivated to increase their output, thereby creating even more jobs.

e.  saving will also increase, as more people are employed.

29. The existence of economic fluctuations makes it clear, according to your text, that

a.  our economy will soon experience a period of prosperity.

b.  we should save more in preparation for a recession.

c.  we should pass a balanced budget amendment to the U.S. Constitution.

d.  we need active monetary regulation.

e.  the neoclassical model has a flaw.

30.A period during which GDP falls below full employment potential level is best known as 

a.  an expansionary period.

b.  a trough.

c.  a boom.

d.  a recession.

e.  a period of recovery.

31. Which of the following is a definition of disequilibrium?

a.  when markets do not clear

b.  when current output is equal to potential output

c.  when there is no inflation

d.  when markets clear

e.  when the quantity demanded equals the quantity supplied

32. According to your text, a neoclassical economist might try to explain a recession in terms of

a.  a leftward shift of the labor supply curve.

b.  a rigid labor supply curve.

c.  a linear supply curve.

d.  inadequate employment.

e.  rigid prices and wages.

33. According to your text, the neoclassical model provides a poor explanation of booms and busts in part because it does not focus attention on

a.  unemployment

b.  equilibrium

c.  inflation

d.  disequilibrium

e.  opportunity cost

34. According to your text, during a boom the labor market is in

a.  equilibrium, but at a lower level of employment.

b.  equilibrium, but labor is less productive.

c.  disequilibrium, and the marginal product of labor is more than the  real wage rate.

d.  disequilibrium, and the marginal product of labor is less than the real wage rate. 

e.  disequilibrium, where the quantity of labor demanded is less than the quantity of labor supplied.

35. The primary focus of the Keynesian model is on the role of

a.  spending in explaining economic fluctuations.

b.  labor in explaining economic fluctuations.

c.  financial markets in explaining economic fluctuations.

d.  stocks and bonds in explaining economic fluctuations.

e.  production in explaining economic fluctuations.

36.  According to your text, what is the difference between actual and planned investment?

a.  planned investment does not include unplanned inventory changes, actual investment does

b.  there is no difference; they are the same

c.  planned investment does not include depreciation; actual investment does

d.  planned investment includes inventories; actual investment does not

e.  planned investment includes depreciation; actual investment does not

37. If MPC in an economy equals 0.4, and disposable income falls by $100, consumption spending will fall by

a. $0.40.

b. $4.00.

c. $60.00.

d. $40.00.

e. None of the above

38. If the consumption function is represented by C = a + bY, then the saving function (S) is represented by

a. S = a + (1 − b) Y. 

b. S  = − a + (1 − b) Y. 

c. S  = − a + ( b − 1) Y.

d. S  = a/2 + (1 − b) Y.
e. S = a – bY.

39. Which of the following factors influence(s) consumption spending?

a.  both c and d 

b.  all of the following

c.  the interest rate

d.  expectations about the future

e.  changes in inventories

40.  Which of the following would shift the aggregate expenditure line upward?

a.  both c and e

b.  all of the following

c.  a decrease in the interest rate

d.  a decrease in wealth

e.  a decrease in expectations of future income

41. In the Keynesian model, it is assumed that as income increases

a.  investment spending decreases.

b.  investment spending increases.

c.  consumption spending falls

d.  investment spending does not change. 

e.  consumption spending does not change.

42. Disposable income is equal to

a. income plus taxes.

b. income minus taxes.

c. income plus saving minus taxes.

d. consumption plus government expenditures minus taxes.

e. consumption plus saving plus taxes. 

43. Aggregate expenditure is the sum of

a.  all types of spending by households.

b.  spending and savings by households.

c.  spending by households and governments on final goods and services.

d.  spending by households, government, and firms on final goods and services.

e.  all spending and saving by households, firms, and governments.

44. If the marginal propensity to consume is 0.2, what is the value of the expenditure multiplier (k)?

a.  0.2

b.  0.8

c.  1.25

d.  5.0

e.  8.25

45. Equilibrium GDP is reached when

a.  aggregate expenditure exceeds GDP.

b.  aggregate expenditure is less than GDP.

c.  aggregate expenditure equals the level of income.

d.  the level of output is greater than aggregate expenditure.

e.  the level of output is less than aggregate expenditure.

46.  If the expenditure multiplier is 10 and investment spending decreases by $1,000 billion, what would be the change in GDP? a.  -$10,000

b.   $2,500

c.   $1,000

d.   $10,000

e.  -$1,000

47. To construct a graph that would enable us to find equilibrium GDP, we would need to plot

a.  the consumption-income line.

b.  a line showing the sum of consumption and investment at each income level.

c.  the investment spending line.

d.  the consumption-income line and the government expenditures line.

e.  an aggregate expenditure line and the 45-degree line from the origin.

48.  The sum of  APC and APS is

a. less than zero.

b. one.

c. zero.

d. greater than one.

e. between zero and one.

49. The sum of  MPC and MPS is

a. less than zero.

b. zero.

c. greater than one.

d. between zero and one.

e. none of the above

50. If MPS equals 0.9 and investment spending rises by $200, then equilibrium GDP will rise by

a. $2000.

b. $1295.

c. $222.

d. $180.

e. $409. 

